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2. 0°<x<90° ¥, 2 F &2 ALY
@ -1<cosx<0 @OSSinxsl
® 0<tanx<1 @ -2 <sinx< -1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx>0




3. sinA:cosA=4:59%Y o tanA 9| S FSteit
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SsinA :cosA=4:5
sin A _ 4

4cosA =5sinA oo tanA = =
cos A
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4. o5 IHoMA x4y o k& Tt

\VARR 4
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2+ 3
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tan60°=2\/§ = 23 —2‘/32

Y= = 2
tan 60° V3
sin60°=f
y
x V3
3= ¥V
Lx+y=2+13
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EG =22
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51nx+cosx—2\/§+2‘/_ = o]},
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3 ABC o4 AB = 8cm ,
em @ o, /B o] A7=?

@)30° @ 45°
® 75°




8.  Th& TI®9] AABC ol AfZHH] o] BE WAl g O g= FotoiEt

@ sin z cos T tan =

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724

[ 2
[> ®eh: 13.642

a = 20X cos47° = 13.642




9. (sin0°+3cos0°) X (cos 90° —2sin 90°) 2] -2 A, tan 45° X cos 0° +
sin90° © ¢= B et T W, A+ B o] g27?

A= (0+3x1)x(0-2x1)=3x(-2)=—-6,B=1x1+1=2
ojlm=g
A+B=(-6)+2=-3




10. g 13} Zo] x Aol —2 0|1 x %] yA
oFe] Wk} o] 2 7to] 60° A HHS /
JAER S ARG4e] 4L Fotol
o
60° -
/—2 o =z
> =
> HE T y= VEr+ 243

tan60° = V3 ©]EZ y = V3x+ b ol (-2, 0) = HYstH
0=-2V3+b L b=23
wrakA] fohs AApgtao] 412y = V3x 4+ 23 ot}




11. o3 283 Zo] ¥ix]52] do]7h 1 91 AREHNA] cos 35°+tan 35°+
sin 55° 9 #k-&?

y
1
0.70F-—-—oooo N p
0,57 - -mmmmmm e A
N\
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Y
I I
35° o
0] B C z
0.82 1

® 1.40 @ 1.96 ® 2.09 @2.34 ® 2.46

cos 35° 4 tan 35° + sin 55° = 0.82 + 0.70 4- 0.82 = 2.34




12, o3 1389 AABC oA 4F2H]9

, AABC 9] Ed|9] ol &

F5HH?
/10/
34°
A

Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@23.882 ® 29.107

~&B

olt}.

AB = 10 x sin 56° = 10 x 0.829 = 8.29
BC = 10 X cos 56° = 10 x 0.5592 = 5.592
w2t AABC o] S99 Zo]= 10 + 8.29 + 5.592 = 23.882




13. & 294 oABCD = BArAolal, LEAD = 60° o[t} MAgh
Fio] gol7t 12em? & i, YAZFE 9] §F W O] Lo & Lotofet

E

A 60° D

i

>
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B ,

(EDA = 30°
EZD_C:xﬂ-E]-Eﬂ

ED = AD x cos 30° = \/Tgx (A3 FE 9] glo])
AE — AD x cos60° = %x

1

g X ‘/Tgf x sin(120°) = 72

§x2 =72  ..x=8V3(cm)




